PAPER CODE – 22

Q. No. 32) End – to –End connectivity is provided from host-to–host in the:
Description:- To communicate from one Host to another Host, Sessions has to be established. Sessions are established between End-To-End. As Session decides the nature of Communication that is Simplex, Half-Duplex or Full-Duplex the Communication can start only after the establishment of Sessions. Hence, B and C both are correct. Hence the question is to be taken ambigous
Q. No. 44) The IP address/mask : 172.16.21.159/255.255.255.224 is :
Description:- The Mask 255.255.255.224  ( /27 )  will create Subnets each with 25-2 Hosts. That is the number of Hosts in each Subnet is 32-2=30. Below is the start and End Address of each Subnets.

First Subnet Address from 172.16.21.0  to 172.16.21.31                      Like wise

another Subnet Address from 172.16.21.32   to 172.16.21.63

another Subnet Address from 172.16.21.64   to 172.16.21.95

another Subnet Address from 172.16.21.96   to 172.16.21.127

another Subnet Address from 172.16.21.128  to 172.16.21.159

another Subnet Address from 172.16.21.160  to 172.16.21.191

another Subnet Address from 172.16.21.192  to 172.16.21.223

another Subnet Address from 172.16.21.224  to 172.16.21.255

In the above example the IP Address 172.16.21.159 comes in the range from 172.16.21.128  to 172.16.21.159. Here The Last address is 172.16.21.159 which is the Broadcast Address of that Subnet. Hence the given answer A in KEY is wrong and the correct answer is C (Broadcast Address).
Q. No. 48) All hosts in t he n/ws has been operation for several hours when the DHCP server goes down. What happens to he hosts that obtained service from the DHCP server?

Description:- When DHCP is down, answer B is true as the hosts will continue to communicate normally. But answer C is also true as to communicate with hosts outside their own network all they need is Default Gateway (Generally which will be the Router)  and DNS server. Since DHCP server can be different from Default Gateway and DNS server, so the communication with hosts outside their own network can happen in this case. Hence, B and C both are correct.. Hence the question is to be taken ambigous
Q. No. 100) Which of the following is true:
Justification/Description: Question is not clear, what kind of Capacity means AH or Volts or anything else is asked.

Also comparison is with Other battery or with itself is not specified.

Hence the question is to be taken ambigous
